XEERES RT-081

WISMETE 1140
Lt
B iz 3240 120 WSS 900 120
20 A LwiHtE 3000 120
C LE-A%E 2970
¢
! o FoUK-h FLIOR
< : : o 158
— ‘ - {nhé
| ; LT
" 79U K-k FLIOE —i ! | o S EBHS- 8K 1=1.6
ro| B 188 7 1 | BAVEAS2 t=6.8 (%i8)
By & ¢(—H{——————"FrA—_— G
ﬁﬁ B O ! ‘
= | | |
! | S R
i ‘ | ™ 7V B
of— L 1 : 1 ) -
= ‘ i ‘ = — EER
i \ TIVIBERM
BEh © :
7 b BB & = | i
|
! 470 |
|
N— AKK S=1:20 ‘
REDEE (LFREFLE) B ‘
7V BB 7V I BB ‘
- GlEE
) BERPH M36 R N
9%y IEAHIE ¢ Bttt Wob 7V B
_ - - amﬁ/ﬁmﬂy)o %fﬁiﬂi t723 |
(27FD>5 Ann—FEER) | H . | o
! ! = : 7095 -379 9¢
\‘ \T‘ i = / G ! 4\)7’9417' WS(b
] W ””” i ﬁ'ﬂTgI [ﬂL:75$ 16 i
BB M50 BRRERS> R t=1. FRL— g
Bit 58S > *BR t=1.6\ ‘ / A A
%O |
b ¢ —1En ****’*****"’***1“***’*"**** e
= I i \ | WHEKEER  S=1:10
| PEASAHT =300
; // % Bl BED- R t=1.6
T T [e] : [e] —
F 1490 |
B 3240
X ZIBMEBUEN. FIHIAEIIIN-ET B, TOIT=I VT B RETHER O ¥DILRET B,
FI9-r- Y JOBEESII10mMET 3.
(R S=1:20 7095y JOMR YN, $R300M LAY, JBHMUKET 3,
‘ RN -HE e AdRRE : RNy 7V E FRU- -3 CERAA S0, BRERE (196 .COBUTT) TRET 5,
®H PSL-90x3000 | &% 00 AR Sy IHE | (BIATH)
I=%H W = — " ¢ = A5 - M8 1F3 k3 A =] 238 F B B —_ —_ _~ o — —
%E%_?“nﬁ‘ INYFATVI PSL—90x3000 ‘ Y SBISHIISTY IR
2 R AKE - BAH - WHEKED AN i
" < kAt 1 g
W 11 al B, 12 A 2
R| 20 10 ) N i L S ow




X

Dt

ERES RT-081

B Laskts 3240
120 A LegtE 3000
C Lr-ad# 2970
EPDMISw £ 15%x15
¢
4
o ”;_¢;,,=: N i N o N ain g/agagRE’RHHHHHHHH\T’R\:’HHRHRHR gagégﬂgﬁ e ==-==o__
00 7
S | 72Uk -4FLI0H
Dm—hé /¢’ | \\\
N /, | *
/
. :%J/ |
: S pzmezasee == @ADBHS2 t=6.8 ()
g gl o ‘ G
szJ_h *\»
S NN REHPHE M50 - . —— BB
e N Biit 23R > 2R t=1.6 7IIBETH I u e
e | LIgBTZ1E 100mmEy F TRETETT »
= FRFDOVTRBEVWADE T T,
— BER
TP
<}
Lo
N CHfi - mm)
PSL—60 (Wit =600, Wikshy i =840)
BEHdiE m36 A | Lot 2100 | 2500 | 3000 | 3500 | 4000
B RERY o SR t=2. ,
\ F 1490 J ﬁmH/ H EAR =23 B | Liwsttit 2340 | 2740 | 3240 | 3740 | 4240
C| LK-astit / 2080 | 2480 | 2960 | 3440 | 4000
i D | k-nms / 190 | 190 [190 [190 | 190
! E | moge / 390 390 |390 |390 | 390
‘ F | 7-yvoscond / 971 | 1171 | 1490 | 1740 | 1990
! G | #3amx / 2 2 3 3 4
‘ H | BEhoHEN 1 1 1 1 1
|
i8Iz =2100. BE=4000
I
) PSL-90 (Wit =000, WiMyHi£=1140)
2300 jgi:g;;jﬂ %d; A | Lotz 1500 | 2000 | 2500 | 3000 | 3500 | 4000
/ B | Limstis 1740 | 2240 | 2740 | 3240 | 3740 | 4240
C | LK-astit 1440 | 1980 | 2430 | 2970 | 3420 | 3960
7 D | K-nge 280 | 280 | 280 |280 |280 | 280
o E | Roge 390 | 390 | 390 |390 |390 | 390
Flo-yvsscom | 740 | 921 | 1171 | 1490 | 1740 | 1990
/ r2 300 G | 5 2 2 2 3 3 4
/ L I H | BepoteEn | 0 0 1 1 1 1
( 7 i S=1:10 LIt TiE872=1500. BE=4000
|
$ PSL—130 (Wii&=1300. WRSMyTE=1540)
A | Ligt 1600 | 2000 | 2500 | 3000 | 3500 | 4000
Asb=gma B | LivsMit 1840 | 2240 | 2740 | 3240 | 3740 | 4240
C| LKr-atti 1600 | 2000 | 2500 | 3000 | 3500 | 4000
D | K-nm& 370 | 370 | 370 |370 |370 | 370
E | moae 390 | 390 | 390 |485 |485 | 485
Flr-yvoecom | 790 | 921 | 1171 | 1490 | 1740 | 1990
G | #52mm 2 2 2 3 3 4
H | BEnosEs | 0 0 1 1 1 1
LIgiRIE=1600, BE=4000
TFeH BEEE S r2E- 2Ny FRSL PS| —90%3000 mifiaH - 1 ) s = AR cmrmnqUISTyoNREd
2 LAokEE
o
- Bkt 5
w1 £ e # 2
Rl 10 5 T T T T S / M




